TIO'NN TYX NN TYX NTNI7 NN Nndn
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https://towardsdatascience.com/what-the-hell-is-perceptron-626217814f53

https://www.kdnuggets.com/2018/10/simple-neural-network-python.html

https://qgithub.com/salimoha/simple_nn_1/blob/master/nn.py

https://blog.paperspace.com/part-1-generic-python-implementation-of-gradient-descent-for-n
n-optimization/

https://blog.paperspace.com/part-2-generic-python-implementation-of-gradient-descent-for-n
n-optimization/

https://blog.paperspace.com/part-3-generic-python-implementation-of-gradient-descent-for-n
n-optimization/

https://blog.paperspace.com/part-4-generic-python-implementation-of-gradient-descent-for-n
n-optimization/

Power of a Single Neuron

https://towardsdatascience.com/power-of-a-single-neuron-perceptron-c418ba445095

N1 7Y IM71Y9 [9IX NIX 207 IR NIXTY 72 011N DMWY NO0IANN NITAIT NIdN Y71 Tn%7 "wor
[NPY DX 207 29 IxD NI NI0NmM L NI7IMA 0NN DINYY wnn? nwoxn Python now 7712
NXI1D .NAIYN NRAIRTO NNUNATIANKN 'M2'NAN AN [N 7Y N'Wyn N2AMd T TT [N 7w 22190
7¥ DN71Y9 NX X217 TINY? 712011 T2y RIN IR MDA 0'7'Y NINS9N [INUS019N TR NN 'MANDY
7¥ NOToN 'M7A7 RWIIN N1ANYT7 TN N9 DX ANDA 0fTI7 N7 DT NNY 19D 09NN NdvN
New York University -2 Ta'7nn Daniel Shiffman 1109119 j'onw The coding train owa n11010
NIRXINN NR? Nwp 7Y

https://thecodingtrain.com/

TI0'NN N1DNYT T 1T NIT'WOA .01IN'I YA NADINN N'0'oan NT'N'A R'n Perceptron |Nuoo1o
[INUD0TD NN 1IN .[NUDO0ND 7V 'Wyn! 'WIN'Y 7TIN XYI1Q NIDIN TIZ NIMDS01 UIN'Y X77 I

NIN 71 NNAIT? JTNXR RXININIRIAN 1901 NI7Ya N7 NDyn X117 N7a1ony NTni? nannd

NNPN 72U N71Y90 NRNRY DR A7 X 1T NIeann 0T .AND aion 17 2w md 71y97 [nuso1on
NTN72 wnnl Mk AND 217 2w 7w 0axnn N0 IR (707 .01 DINWA 7Y nooinn Nimiy
.Mpn
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Input A | Input B | Output
B 1 S 1 1] il
0 1 ]
1 1 1
1707 ANIMn [NVS01S 7w 770 nA'Mmin D'wAn
bias perceptron
weights
Wy
we|ghts sum activation
function
'[Ul
perceptron
output
w»
inputs
Wy

Xn

TNX 72 "2 NI7901 7¢ DIDO N'¥7IID [IYXRIN .0MIP'Y 0RADIN 2-1 201N TTIA [NVOS0IDY NIRY? N1
NX N7apnn activation function "ayn N¥RAI9 XN WD 2DINN .0NPY 77WUNn 7193 X1ANd NINIRNN
NIRI7 [N |2 10D .'I¥Y 0DV NIV TTIA NIXR [NV9019N K¥INQ NR'NINI D'77WN] XIAnn NI79on DO
yiap 11 77Dn bios owa qon Xian 7apn (Nuso1ony

NINIX 7¢ NI79ONN0 D120 WINMY7? NN9IY N12INA TiZ YO 707 .02 NN TRX 70 DX TIga wnn
.D'77wUn2a NIANn

sum = np.dot(inputs, weights) + bios

N'501 WIN'Y M NIXNLVN DY TIAY7? N1TA7 TWXD 3 Ni7'woa ndnw dot N9 win'y nix1? N1
N7ap WNKY7 .weights n'7pwna inputs X1ann NIMIR NI795n NX NNdIO 1T n'¥7a19 .NumPy n'onnnn
.bias 7w 11> nX D07 q'on ndON

activation function naynn nvypd winm% TR yop |07

def Activation(s):
if s> 0:
activation = 1

else:
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activation =0

return activation

0-n 7Ima s 7w 1DWI AT S NINWN JINT7 )Y K120 N7APNY 12yn DY DR Nwnnn IT n71V9
09X N'XIN X'N NINKXK 1 X'XIN 12YND NU¥19

NI'7'wo1 .01V 0DIX7 NINRNNAN NNIY 12yn NIFYRA19 07710 DRIY DNVD019Y Y7 DIgnn AT
.TanH -1 Sigmoid nnaIT "ayn NIr¥RaIv oy TIAY7 T Jwninn

IN2N NIYA 727 [N 0'901 D'VI9Y

https://en.wikipedia.org/wiki/Activation function

VIT RIAN NIKZ DNIRNNND DX IRNNN 912 72'91Y D 12yNnn NUX7AI9 N7 1A% NtdIn |70

import numpy as np

import matplotlib.pyplot as plt

def Activation(s):
if s> 0:
activation = 1
else:
activation =0

return activation

in_array = np.linspace(-10, 10, 50)

out_array =[]

for i in range(len(in_array)):
out_array.append(Activation(in_arrayf[i]))

out_array = np.array(out_array)

plt.plot(in_array, out_array, marker =".")
plt.title("Activation Function")
plt.xlabel("X")

plt.ylabel("Y")

plt.show()

:N2N V790 DR NN
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Activation Function

1.0 4

0.8

0.6

0.4 4

0.2

0.0 1

-10.0 —7.5 —5.0 —2.5 0.0 25 5.0 7.5 10.0

.Perceptron nwa nz'7nnd nmw npan Nk nwnnnn python -2 np'znn nyd 2Imda

class Perceptron(object):
def __init__ (self, numOflnputs, epochs=100, learningRate=0.01):
self.epochs = epochs
self.learningRate = learningRate
self.weights = np.zeros(numOflnputs)

self.bios = 1

def Activation(self, s):
if s>0:
activation = 1
else:
activation =0

return activation

def predict(self, inputs):
sum = np.dot(inputs, self.weights) + self.bios
out = self.Activation(sum)

return out

DVNID 190N N7APAN NI N7IYD NID0N NI7IWYD 2 TIVI N1 N71Y9 177213 Perceptron np7nnn
0Nl

.NVO0197 NIXPNT7 W'Y NINIAnn 1901 NX 7amn humOflnputs owa qun1o
[IN'RN 121N 723 2V 712y [NVOS019N 1AW D'MYDN 190N NKX 731N epochs vl 1VN1S
.100-7 7y NX 7Thn 112D T T NP nna .nTn QA

VIXT "D IN D'77wNnn 1'YUN axp 0N NN YaR'y 1oon axtnn learningRate nowa tuonte e
0.01 -7 77vn NX 7T 1NN 1T IT NR7NNA .D'YONN 1IRY 0T 2NN YN

102

N7 1 - Python nowa mipn nn? gadi.herman@gmail.com 7"xi7 |nn M



mailto:gadi.herman@gmail.com

DNMIAZRN 7V 1172 T WWKRD 7 190n NI7'woa nwao epochs -1 learningRate nounton 2 nx
DX NIY7 IX D' DYD 701 TWRD NIYPZRIVI'R 1901 YX¥a? IX N0 12 0aw Gradient Descent
.INY'73 2x72 D"0UNI9N

NINIX NI79>1 DIDO NX NAYWNAY N0 N71¥91 17w 1aynn N'¥219 X DA 771> Perceptron np'7nnn
non predict -7 N71Y9n 7 NN NX 12Y27 .12V DYDY IRYINN NIX NNfAyNn TR DY77wn] RIann
N2INWY 'TD XIANN 1IN DX 07770 N7 7907 T2 NNIN AT N7 NI7'YON JUNNAY N71V9 NNIX DXV ITY
.NTN7W NN'7 DNNN2 NDYNAN KXIN DX

1707 nwnimnn train X'n Perceptron np'7nna n'tonn n721von

def train(self, inputs, labels):
for _in range(self.epochs):
for i in range(len(inputs)):
prd = self.predict(inputs]i])
self.weights += (labels[i] - prd) * inputs[i] * self.learningRate

self.bios += (labels[i] - prd) * self.learningRate

2V oo1an NTI7 Napn 7w 'OINN [I'VIN .NTMI7 MdNY NUS019 ND'9NA N'TIOIN NIA'WN IT N71VDY7
W' [IN1 727 TWUKRD X1I2N 21N 72U NTO 7V i) ,0NNn 01N 7V 0'AY9 1901 Ay DNNIATRAY D
M21ITA N7YW NNENA .0Y71 (1IN INIK AWKRD [NUD019N KXINA NIFY AMKY (1210 )WN NN N1Y¥NN NN
x'n Output -1 NV0197 0'01210 DIMaN 0N input B -1 input A "wx> AND e 7w nnxn n7a0a
1M1 70 7w nadan nann

data label

Input A | Input B | Output

MIPNNI [NVD019N RXINA 7APNNY '9D V79 7D |2 NIl ,XI2NAW DAININN TAR 72 7V NNaIy n71von
.(JNUD01ON KXIN |27 NHINN MITD XN W 2 WIDNN) NRAYT7 DXNNA 077N NI

AT NP7 wnnnin train 071von JImn nip' T Tipn yop |70Y

self.weights += (labels[i] - prd) * inputs[i] * self.learningRate

self.bios += (labels[i] - prd) * self.learningRate
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labels 1¥x2n 7vn 12 w1on? oknna nanwn bios -1 weights n'?pwnin YW 0oy T¥D avn AT TIR
JearningRate n'7pwnn ''w axp 7193 prd NVS019N X¥INA Y'oIMN N 1A

:NQN TIPN NN QM1 AP7nnn DX 7'wonY

inputs = np.array([[0, 0], [0, 1], [1, O], [1, 111

labels = np.array([0, 0, 0, 1])
perceptron = Perceptron(2)

perceptron.train(inputs, labels)

t1 = np.array([0, 0])
print(t1 , perceptron.predict(t1))
t2 = np.array([0, 1])
print(t2 , perceptron.predict(t2))
t3 = np.array([1, 0])
print(t3 , perceptron.predict(t3))
t4 = np.array([1, 1])
print(t4 , perceptron.predict(t4))

Jimnn 1Ay labels nwni 070 1M WAy input owa TNRN DWN 2 1A

JiINn 2 9700 Perceptron ng7nnin 7w yoind perceptron nwa nyy 11

7V TN [IV9019KRY 21T21 §1027 .0'AMINAN 0ININ 7V [NUD0I9N NX [ARY? 'TI train n721yon NX NN
.predict n27yon nx mnwy P T

import numpy as np

class Perceptron(object):

:T1I0'NN [NVD09N NWNANN NDIN 7w X' Tizn |77

def __init__(self, numOfinputs, epochs=100, learningRate=0.01):

self.epochs = epochs

self.learningRate = learningRate

self.weights = np.zeros(numOfinputs)

self.bios = 1
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def Activation(self, s):
if s>0:
activation = 1
else:
activation =0

return activation

def predict(self, inputs):
sum = np.dot(inputs, self.weights) + self.bios
out = self.Activation(sum)

return out

def train(self, inputs, labels):
for _in range(self.epochs):
for i in range(len(inputs)):
prd = self.predict(inputsi])
self.weights += (labels[i] - prd) * inputs[i] * self.learningRate

self.bios += (labels[i] - prd) * self.learningRate

inputs = np.array([[0, 0], [0, 1], [1, O, [1, 1]])
labels = np.array([0, 0, 0, 1])
perceptron = Perceptron(2)

perceptron.train(inputs, labels)

t1 = np.array([0, 0])
print(t1 , perceptron.predict(t1))
t2 = np.array([0, 1])
print(t2 , perceptron.predict(t2))
t3 = np.array([1, 0])
print(t3 , perceptron.predict(t3))
t4 = np.array([1, 1])
print(t4 , perceptron.predict(t4))
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NN NN VYO

input A | Input B | Output

NMINN V7o

RIN DXRN 21T INXK WY 72U D217 DINT? [NV9019N DR TIN7 12 721 [NVD015W VTN NIX M)
NAND 2101 17 2w Tin'? nnaIT? .0"yY 7w 01w 0110 TIN%7 2a10n

Inputs output
_ 0 0 1
. 0 1 1
1 0 1
1 1 0
inputs = np.array([[0, 0], [0, 1], [1, O, [1, 1]])
labels = np.array([1, 1, 1, 0])
:NDINN 079 707
Inputs output
0 0 1
0 1 1
1 0 1
1 1 0

727N
OR NOR NOT XOR :n'xa n™ywn NX NINT? [NUDS019 NX 1Y

700N TNX 722 TIN%7 N7a10n N1DINN DXRN 17T

[Inno

NZA17 NINT? NT7w NN 0797 NNAIT 707 XOR ww 7w pzalzn N TN 2a10n X7 [N090190
:XOR v

inputs = np.array([[0, 0], [0, 1], [1, O], [1, 11D

labels = np.array([0, 1, 1, 0])
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Hhyaly

Input | Output
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n1avn T v ano7 [N 07215 X .NAND -1 AND , OR n"i7 nnyw 7w mXa'7 airo nix1'? [N rxa
WY 7V DA NINT NIYY7 [N 0N [N21 .0 ni? nnn 127 1 i nnna XXM |2 75100 TR N7 1
XOR a10n 17

XOR

0,000 . (0, 0) O—— .
N\ (0, 1) (0=1)\
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TIN%7 N7210nN0 NAdN NINAZ T DNVS0TS 10N 7W NYIY YNNl DAY NNAN NI7'WO] 71 137 [INNO
XOR 2a10n 117 v

INanx

YA XNEY7 N1 01019 .12YNN NUYZAID N9YNN T N TTIA NS0 T 7y XOR 1Www wnn nn
$Yah)

https://medium.com/@lucaspereira0612/solving-xor-with-a-single-perceptron-34539f395182

...NDIN TIP2 1NRN IRINAN [NUD9019N NX WNNY DYNTIN DNK

7'aan

NdIYN NINT? TTI2 [NVS01S Y7 "5 NIY'yo1 NI DTN 1INN'OY Perceptron nz7nna Nryn
wnn? N7ai10n NUINY TNRN XXIN 7Y DRIV 0'9N'Y 2 NIND'Y7 INXN . TNX XXINI 0"AI7 niXian 3 n'770n0
.DONAIYN NX 177171 .X7Y TNNI

[NNo
NXIN NINIAN 3 7 0'9N'Y DDA TIN7 72100 TTIA [NVD019 N7710N NDWN 1Y [NNS9YT TR |70

TRR

import numpy as np

class Perceptron(object):
def __init__ (self, numOfinputs, epochs=100, learningRate=0.01):
self.epochs = epochs
self.learningRate = learningRate
self.weights = np.zeros(numOfinputs)

self.bios = 1

def Activation(self, s):
if s> 0:
activation = 1
else:
activation =0

return activation
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def predict(self, inputs):
sum = np.dot(inputs, self.weights) + self.bios
out = self.Activation(sum)

return out

def train(self, inputs, labels):
for _in range(self.epochs):
for i in range(len(inputs)):
prd = self.predict(inputsi])
self.weights += (labels[i] - prd) * inputs[i] * self.learningRate

self.bios += (labels[i] - prd) * self.learningRate

inputs = np.array([ [0, 0, 0],
[0, O, 1],
[0, 1, 0],
[0, 1, 1],
[1,0, 0],
[1,0, 1],
[1,1,0],
(1,1, 11D

labels = np.array([1, 1, 1,1, 0,0, 1, 1])
perceptron = Perceptron(3)

perceptron.train(inputs, labels)

t = np.array([0, 0, 0])
print(t , perceptron.predict(t))
t = np.array([0, O, 1])
print(t , perceptron.predict(t))
t = np.array([0, 1, 0])
print(t , perceptron.predict(t))
t = np.array([0, 1, 1])
print(t , perceptron.predict(t))
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t = np.array([1, 0, 0])
print(t , perceptron.predict(t))
t = np.array([1, 0, 1])
print(t , perceptron.predict(t))
t = np.array([1, 1, 0])
print(t , perceptron.predict(t))
t =np.array([1, 1, 1])
print(t , perceptron.predict(t))

TINY7 72100 X7 TTIA NVS01D NAW NP7 MY TIR 707

inputs = np.array([ [0, 0, 0],
[0, 0, 1],
[0, 1, 0],
[0, 1, 1],
[1,0,0],
[1,0,1],
[1, 1,01,
(1,1, 11D

labels = np.array([0, 1,0, 1,0, 0, 1, 1])

;' NNDINN VY9 DT XN

&
&
1
1
8
2
1
1

e D e e S

TIN%77 nwpann NN yTn? onn NINYo 2 Uy NIk [N
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NN INT? [INVS01D NOOIAN NTIIT7 NN 7Y 'Wyn DIY" :an'wn
.XP DTN N'7'NN X .IT NN'YUNA "IV DX N2 'MMIKRD D71V [INU901D NIYYT7 T1WON 12D Nn 1Iv

ANN n'mpXM DN N NN N'0'0aN DTN R |NUD0TD e
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from PIL import Image

import numpy as np

H-mm start Perceptron
class Perceptron(object):
def __init__ (self, numOfinputs, epochs=100, learningRate=0.01):
self.epochs = epochs
self.learningRate = learningRate
self.weights = np.zeros(numOflnputs)

self.bios = 1

def Activation(self, s):
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if s> 0:
activation = 1

else:
activation =0

return activation

def predict(self, inputs):
sum = np.dot(inputs, self.weights) + self.bios
out = self.Activation(sum)

return out

def train(self, inputs, labels):
for _in range(self.epochs):
for i in range(len(inputs)):
prd = self.predict(inputsi])
self.weights += (labels][i] - prd) * inputs][i] * self.learningRate

self.bios += (labels[i] - prd) * self.learningRate

e end Perceptron

e start get data from images
sea_colors = list()
foriin range(10):
img = Image.open("data/sea" + str(i) + ".jpg")
img.load()
data = np.array(img, dtype=np.uint8)

sea_colors.append([data[:,:,color].sum() / data[:,:,color].size for color in range(3)])

land_colors = list()

foriin range(10):
img = Image.open("data/land" + str(i) + ".jpg")
img.load()
data = np.array(img, dtype=np.uint8)

land_colors.append([datal:,:,color].sum() / data[:,:,color].size for color in range(3)])
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test_colors = list()

for i in range(6):
img = Image.open("test/test" + str(i) + ".jpg")
img.load()
data = np.array(img, dtype=np.uint8)

test_colors.append([datal:,:,color].sum() / data[:,:,color].size for color in range(3)])

Hommmmm end get data from images

H#ommmmm Preparing the data for machine learned

sea_array = np.array(sea_colors)
land_array = np.array(land_colors)
test_array = np.array(test_colors)

x1 = sea_array[:,1]

y1 = sea_array[:,2]

X2 = land_array[:,1]

y2 = land_array][:,2]

xtest = test_array[:,1]

ytest = test_array[:,2]

x = list()

y = list()

X = np.append(x1,x2)

y = np.append(y1,y2)

data = np.stack((x, y), axis=-1)

test_data = np.stack((xtest, ytest), axis=-1)
Ibl=[0,0,0,0,0,0,0,0,0,0,1,1,1,1,1,1,1,1,1,1]

e Preparing the data for machine learned

e start run machine learned

perceptron = Perceptron(2)

perceptron.train(data, Ibl)

foriin test_data:
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if perceptron.predict(i)==1:
print(i , "SEA Picture "!")
else:
print(i , "LAND Picture ")

- end run machine learned

OR -1 AND 2101 "17 2w 21107 T2 12 NWANWN IT NI7'WD N7'NNAY TIzn INIXK DX DNP7 07 T2
.NY2 D' DRI AN'0Y NIPNWOX 117N NAW 5 NI7'Y9] NP9NY 021NN YN DX 17 179'01

0N 4-9 pinn TiEn
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You are free:

to Share — to copy, distribute and transmit the material
to Remix — to adapt the material

Under the following conditions:

Attribution — You must give appropriate credit, provide a link to the license, and
indicate if changes were made. You may do so in any reasonable manner, but not in
any way that suggests the licensor endorses you or your use.

NonCommercial — You may not use the material for commercial purposes.
ShareAlike — If you remix, transform, or build upon the material, you must distribute
your contributions under the same license as the original.

115

N7 1 - Python nowa mipn nn? gadi.herman@gmail.com 7"xi7 |nn M



mailto:gadi.herman@gmail.com

